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22t & [f, X ~ Poisson ()2 HE$SIH

ShE B A 5|
F=aF 2Lk

= = - T X = O
AHA0| k H A E 2FE2

k

P(x=k)=2e* 0,12,..
‘ k!

A7 ME e = AALH(log)e| 22 e = 2.71828... O|LCt.
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P(x=0)= %e‘S =e> ~0.00674

r

@ Ol & WsAA7E 38 O 2o{E =&
P(x=23)=1-P(x<3)=1-{P.(x=0)+P.(x=1)+P(x=2)}
=1—-{0.007+0.033+0.085}=1-0.1247 =0.8753

Z X ~ Poisson (5)0|11
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poill=-rep(nN4,15)
poil2<-rep(Na,15)
poil3<-rep(na,15)

poill[1]<-ppois(0, 5.0)
poil2[1]<-ppois(0, 5.2)
poil3[1]=-ppois(0, 5.4)
for(i in 2:15) {
poill[i]<-ppois(i-1,

4

for(i in 2:15%) {
poil2[i]<-ppois(i-1,

-

for(i in 2:15) {
poil3[i]<-ppois(i-1,

-
+
J

5.00

5.2)

5.4)

(poi<-chbind(poill,poil2, poilld))

[1,]
[2,]
[3,]
[4,]
[5,]
[6,]
7,]
[8,]
[9,]
(10,]
[11,]
[12,]
[13,]
[14,]
[15,]

Lo T Y e T e e I e Y e e e O e Y e O Y e e

poill

006737947
040427682
.124652019
. 265025915
440493285
. 615960655
762183463
.BE6628326
.931906365
.O6E171943
086304731
. 994546908
. 997981148
. 999302010
. 999773746

Lo I e e e I i e I e I e IO O e e IO e O e e e

poil2

. 005516564
.034202699
108786650
. 238065499
.406128002
. 5380913005
. 732393340
. B44921590
. 018064952
.9680325561
.O8230107E
. 992689504
. 997191156
. 998991816
. 9996606332

Lo I e e e i e I e I e IO T e e O e O e e e

poil3

. 004516581
028906118
. 094757 E6E
.213291018
. 37331077

546132104
701671304
.B21658687
. 902650170
. 951245060
077486301
. 990368364
. 996165293
. 998573248
. 999502030

\
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P.(x=0)=0.007
P(x>23)=1-P (x<3)=1-P(x<2)
=1-0.125=0.875
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px(2)= %e_”z % e “P=0,024338
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P(XS(‘FEIO'UZ M 7R
/1

’ \ 02 .04 | .06 .08 10 .15 .20 25 .30 .35 40
0 980 | .961 .942 923 | .905 861 819 779 741 705 1 .670
1 1.000 | .999 | .998 | .997| .995| .990| .982| .974| .963| .951 | .938
2 1.000 | 1.000 | 1.000 | 1.000 | 999 | .999| 998 | .996 | .994 | .992
3 1.000 | 1.000 | 1.000 | 1.000 | 1.000 | .999
4 1.000
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P(x=2)=P(x<2)-P (x<1)=0.125-0.04 =0.085
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Histogram of poi025 Histogram of poil
o
> & > 8
1 [pet.seed(12345) 5 5
2 g g £ g
3 n<-10000; Q " S i
4 \ . . © [ T ,; T ] © [ T T T r: T T ]
5 poi0d25=-rpoisi(n, 0.25) 0 1 2 3 4 o 1 2 3 4 5 & 7
6 poil<-rpois(n, 1)
7 pg-izq:—r"po'is{:n, 20 mu=0.25 mu=1.0
8 poid<-rpois(n, 4)
9
10 par(mfrow=c(2,2)) Histogram of poi2 Histogram of poi4
11
12 hist(poi025, breaks=100, xlab="mu=0.25") o °
13 hist(poil, breaks=100, xlab="mu=1.0") z 8 > 3
14 hist(poi2, breaks=100, xlab="mu=2.0") 5 . g
15 hist({poi4, breaks=100, xlab="mu=4.0") § g H E 3 H
16 o)
o “ . o HH H " 0 o
I T T T 1 I T T T T T T 1
0 2 4 6 8 0 2 4 6 8 10 12 14
mu=2.0 mu=4.0
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par (mfrow=c(2,2))

Tambda_Tist=-c( 10, 15) # T ¢
F

3, 5,
x_list<-30 # LHHULE 126 xZMH 2HE

E N

= for (i in 1:Tength(lambda_Tlist)) {

p_x<=-dpois(x=0:x_1ist,lambda_1ist[i])

plot(x=0:x_1ist, p_x, xlab="x", ylab="P(x=x)", ylim=c(0, 0.25),
xTim=c(0,x_1ist), main=paste("lambda=", lambda_Tlist[i]))

Xx_seqg=-seq(0,x_1ist,1)

Tlines(x_seq, p_x, type="h", col="blue™)

P(X=x)

P(X=x)
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